

Wigner function in the efficient coherent basis (BCE)

Saúl Pilatowsky-Cameo
2019

Consider a state in the BCE

$$|\psi\rangle = \sum_{n=0}^{Nmax} \sum_{m_x=-j}^j C_{n,m_x} |n; j, m_x\rangle.$$

We want the Wigner transform of the state

$$\rho = |\psi\rangle \langle\psi| = \sum_{n,n'=0}^{Nmax} \sum_{m_x,m'_x=-j}^j C_{n,m_x} C_{n',m'_x}^* |n; j, m_x\rangle \langle n'; j, m'_x|. \quad (1)$$

We can write it as a linear combination of the Wigner transforms of

$$\rho_{n,n',m_x,m'_x} = |n; j, m_x\rangle \langle n'; j, m'_x|.$$

1. From BCE to Fock-Dicke basis

We start by writing a state in the BCE $|n; j, m_x\rangle$ in terms of the Dicke states $|j, m_x\rangle$ and (displaced) Fock states $|n, \alpha\rangle = D(\alpha)|n\rangle$, where $D(\alpha) = \exp(\alpha a^\dagger - \alpha^* a)$. With this notation, a coherent state can be written as $|\alpha\rangle = |0, \alpha\rangle$. Using $A = a + GJ_x$ and $\alpha_{m_x} = -Gm_x$ [1], we get

$$|n; j, m_x\rangle = \frac{(A^\dagger)^n}{\sqrt{n!}} |\alpha_{m_x}\rangle |j, m_x\rangle \quad (2)$$

$$= \frac{1}{\sqrt{n!}} \sum_{k=0}^n \binom{n}{k} (a^\dagger)^{n-k} (GJ_x)^k D(\alpha_{m_x}) |0\rangle |j, m_x\rangle \quad (3)$$

$$= \frac{1}{\sqrt{n!}} \sum_{k=0}^n \binom{n}{k} (a^\dagger)^{n-k} D(\alpha_{m_x}) |0\rangle (Gm_x)^k |j, m_x\rangle. \quad (4)$$

where we used that $|j, m_x\rangle$ is an eigenstate of J_x with eigenvalue m_x . Now, we repeatedly use $[a^\dagger, D(\alpha_{m_x})] = \alpha_{m_x}^* D(\alpha_{m_x}) = \alpha_{m_x} D(\alpha_{m_x})$ along with the commutation rules. We get

$$(a^\dagger)^{n-k} D(\alpha_{m_x}) = \sum_{l=0}^{n-k} \alpha_{m_x}^{n-k-l} \binom{n-k}{l} D(\alpha_{m_x}) (a^\dagger)^l. \quad (5)$$

Introducing this result above, and remembering that $(a^\dagger)^l |0\rangle = \sqrt{l!} |l\rangle$,

$$|n; j, m_x\rangle = \frac{1}{\sqrt{n!}} \sum_{k=0}^n \binom{n}{k} \sum_{l=0}^{n-k} \alpha_{m_x}^{n-k-l} \frac{(n-k)!}{l!(n-k-l)!} D(\alpha_{m_x}) \sqrt{l!} |l\rangle (Gm_x)^k |j, m_x\rangle \quad (6)$$

$$= \sqrt{n!} \sum_{k=0}^n \sum_{l=0}^{n-k} \frac{\alpha_{m_x}^{n-l} (-1)^k}{\sqrt{l!} (n-k-l)! k!} |l, \alpha_{m_x}\rangle |j, m_x\rangle \quad (7)$$

$$= \sqrt{n!} \sum_{l=0}^n \sum_{k=0}^{n-l} \frac{\alpha_{m_x}^{n-l} (-1)^k}{\sqrt{l!} (n-k-l)! k!} |l, \alpha_{m_x}\rangle |j, m_x\rangle \quad (8)$$

$$= \sqrt{n!} \sum_{l=0}^n \frac{\alpha_{m_x}^{n-l}}{\sqrt{l!}} \left(\sum_{k=0}^{n-l} \frac{(-1)^k}{k! (n-k-l)!} \right) |l, \alpha_{m_x}\rangle |j, m_x\rangle \quad (9)$$

It turns out that $\sum_{k=0}^{n-l} \frac{(-1)^k}{k!(n-k-l)!} = \delta_{n,l}$, so

$$|n; j, m_x\rangle = |n, \alpha_{m_x}\rangle |j, m_x\rangle. \quad (10)$$

2. Wigner function in the displaced Fock basis

The Wigner function for the product of Fock states $|n\rangle \langle n'|$ is [2] (Eq. 2.5)

$$W_{|n\rangle \langle n'|}(q, p) = \sqrt{\frac{n!}{n'}} e^{i(n'-n) \arctan(p/q)} \frac{(-1)^{n'}}{\pi} \left(2(q^2 + p^2) \right)^{(n'-n)/2} \times \quad (11)$$

$$\times L_{n'}^{n-n'} \left(2(q^2 + p^2) \right) e^{-(q^2 + p^2)},$$

where L_a^b is the associated Laguerre polynomial. We have displaced Fock states, but note that in general, for a displaced operator $\rho_{\beta, \beta'} = D(\beta) \rho D(\beta')$, where β is real (as is the case for $\beta = \alpha_{m_x} = -Gm_x$), the Wigner function is

$$W_{\rho_{\beta, \beta'}}(q, p) = \frac{1}{\pi} \int_{-\infty}^{\infty} \langle q+r | D(\beta) \rho D(\beta') | q-r \rangle e^{-2ipr} dr \quad (12)$$

$$= \frac{1}{\pi} \int_{-\infty}^{\infty} \langle q+r-\beta | \rho | q-r+\beta' \rangle e^{-2ipr} dr \quad (13)$$

with $\hbar = 1$. Performing the change of variable $r' = r - \frac{\beta'+\beta}{2}$ y $q' = q + \frac{\beta'-\beta}{2}$, we obtain

$$W_{\rho_{\beta, \beta'}}(q, p) = \frac{1}{\pi} \int_{-\infty}^{\infty} \langle q' + r' | \rho | q' - r' \rangle e^{-2ipr'} e^{-ip(\beta+\beta')} dr' \quad (14)$$

$$= e^{-ip(\beta+\beta')} \frac{1}{\pi} \int_{-\infty}^{\infty} \langle q' + r' | \rho | q' - r' \rangle e^{-2ipr'} dr' \quad (15)$$

$$= e^{-ip(\beta+\beta')} W_{\rho}(q', p). \quad (16)$$

In the particular case of the states $|n, \alpha_{m_x}\rangle \langle n', \alpha_{m'_x}| = D(\alpha_{m_x}) |n\rangle \langle n'| D(-\alpha_{m'_x})$, we have $\beta = \alpha_{m_x}$ and $\beta' = -\alpha_{m'_x}$, so the change of variables is $q' = q + G(m_x + m'_x)/2$, and $\beta + \beta' = G(m'_x - m_x)$.

3. Wigner function in the Dicke Basis

For the product of the Dicke states $|j, m\rangle \langle j, m'|$, the Wigner function is [3]

$$W_{|j, m\rangle \langle j, m'|}(\theta, \phi) = \sum_{k=0}^{2j} \sum_{s=-k}^k (-1)^{j-m} \sqrt{2k+1} \begin{pmatrix} j & k & j \\ -m & s & m' \end{pmatrix} Y_{ks}(\theta, \phi), \quad (17)$$

where Y_{ks} are the spherical harmonics and $\begin{pmatrix} j & k & j \\ -m & s & m' \end{pmatrix}$ the 3-j Wigner symbols.

Because we work with m_x and not m , we have to rotate $R_{x \rightarrow z} : J_x \mapsto J_z$ in the variables θ, ϕ before evaluating. That is, we have to replace $\theta, \phi \rightarrow R_{x \rightarrow z}(\theta, \phi)$.

4. Total Wigner function

With all the above, we can write the Wigner of Eq. (1) as

$$W_{\rho}(q, p, \theta, \phi) = \sum_{n, n'=0}^{Nmax} \sum_{m_x, m'_x=-j}^j C_{n, m_x} C_{n', m'_x}^* \times \quad (18)$$

$$\times e^{-ipG(m'_x - m_x)} W_{|n\rangle \langle n'|}(q + G(m_x + m'_x)/2, p) W_{|j, m\rangle \langle j, m'|}(R_{x \rightarrow z}(\theta, \phi))$$

by substituting Eqs. (11) and (17).

5. Projection in q, p

Let us compute $W_\rho(\theta, \phi) = \int \int W_\rho(q, p, \theta, \phi) dq dp$. For that, we must first compute the integrals of the Wigner function of the displaced Fock states. This is straightforward using the trace property of the Wigner functions, along with the expression for the overlap of the displaced Fock states [4]

$$\begin{aligned} & \int \int W_{|n, \alpha_{m_x}\rangle \langle n', \alpha_{m'_x}|}(q, p) dq dp \\ &= \text{tr} \left(|n, \alpha_{m_x}\rangle \langle n', \alpha_{m'_x}| \right) \\ &= \langle n', \alpha_{m'_x} | n, \alpha_{m_x} \rangle \\ &= \sqrt{\frac{n'!}{n!}} (\alpha_m - \alpha'_m)^{n-n'} e^{-\frac{1}{2}|\alpha_m - \alpha'_m|^2} L_{n'-n'}^{n-n'} \left(|\alpha_m - \alpha'_m|^2 \right) \end{aligned}$$

Then,

$$\begin{aligned} \int \int W_\rho(q, p, \theta, \phi) dq dp &= \sum_{n, n'=0}^{Nmax} \sum_{m_x, m'_x=-j}^j C_{n, m_x} C_{n', m'_x}^* \times \\ &\times \sqrt{\frac{n'!}{n!}} (\alpha_m - \alpha'_m)^{n-n'} e^{-\frac{1}{2}|\alpha_m - \alpha'_m|^2} L_{n'-n'}^{n-n'} \left(|\alpha_m - \alpha'_m|^2 \right) W_{|j, m\rangle \langle j, m'|}(R_{x \rightarrow z}(\theta, \phi)). \end{aligned} \quad (19)$$

6. Projection in θ, ϕ

Let's compute $W_\rho(p, q) = \int \int W_\rho(q, p, \theta, \phi) d\theta d\phi$. As before,

$$\begin{aligned} & \int \int W_{|j, m_x\rangle \langle j, m'_x|}(\theta, \phi) d\theta d\phi \\ &= \text{tr} \left(|j, m_x\rangle \langle j, m'_x| \right) \\ &= \langle j, m'_x | j, m_x \rangle = \delta_{m_x, m'_x} \end{aligned}$$

Then,

$$\int \int W_\rho(q, p, \theta, \phi) d\theta d\phi = \sum_{n, n'=0}^{Nmax} \sum_{m_x=-j}^j C_{n, m_x} C_{n', m_x}^* W_{|n\rangle \langle n'|}(q + Gm_x, p). \quad (20)$$

References

- [1] M. A. Bastarrachea-Magnani, B. López-del Carpio, J. Chávez-Carlos, S. Lerma-Hernández, and J. G. Hirsch. Delocalization and quantum chaos in atom-field systems. *Phys. Rev. E*, 93:022215, Feb 2016.
- [2] M. S. Bartlett and J. E. Moyal. The exact transition probabilities of quantum-mechanical oscillators calculated by the phase-space method. *Mathematical Proceedings of the Cambridge Philosophical Society*, 45(4):545–553, 1949.
- [3] Jonathan P. Dowling, G. S. Agarwal, and Wolfgang P. Schleich. Wigner distribution of a general angular-momentum state: Applications to a collection of two-level atoms. *Phys. Rev. A*, 49:4101–4109, May 1994.
- [4] F. A. M. de Oliveira, M. S. Kim, P. L. Knight, and V. Buek. Properties of displaced number states. *Phys. Rev. A*, 41:2645–2652, Mar 1990.